BIDMAS Wordsearch
Write the answers in words then find in the wordsearch:

1)3x4-2= ten 1)(5+4y7 =

2)9-2x4- 12) 20 - (4 - 2)% =

3)6+32 = 13) V14 -5 x 2=

4)9-6=:2= 14)(5-3)x (4*-7)=

5) V25 = 15)@:

6) (10+1)x 2= 16) (6+7)x9+3=

7)3x(9+3)= 17) /28 + 42— (10 —2) + 4 X 6 =

8)64 +(18 - 2) = 18) (42 - 8)2 =

9)5x10+1-= 19)100-2 x 6 =

10) 6% + 3% = 20) (32+3)x 7 =
fifu a c a 'y i hin e r e
o/s ' nw fit rie/v,un i|b/ nh
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rrr o wdis t f flylrid hjc n u
p/r mg hjy y tir i h t f n o
o/t o g t/t h I|s r ey | k f
ijd| i riefg f i|]t|t v fly iy
nle o n i/e x i h 'y i ola s t
t|f i/e t wo i/ f d flu|jl o x
fin flou/r rnjr t/ 'y ris m i
it h i rit 'y ni i n e at t s
violw t y t ne/w t o e/a e|r
e/n s s f/i f tily o n e|/n o a
tis i/ x tle e n/o t n hjt a h
hix a y r/h t rfm o o/nje e v



